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Explanation to selected questions

23
Since 1.6 s makes 2 waves


1 second later, ( =2 / 1.6) 1¼ waves are produced.


By drawing another 1¼ waves from the left.

25
(+) charged P induces (-) charges on near end of Q and repel (+) charges at its far end. The (+) charges in Q also induced (-) charges at near end of R and repel 


(+) charges at the far end of R. Earthing R will ground the (+) charges and R is left with (-) charges only. Q still remains electrically neutral as both the (+) and (-) charges are still there.

26
When S is open, R2 = V / I = 8 /1 = 8 (

When S is closed, R1 and R2 are in parallel. 


Combined resistance of parallel network = 6 / 1.5 = 4 (

But
R1R2/ (R1 + R2)  = 4



Hence,    8R1 / (8 + R1) = 4




R1   = 8 (
27
Use   V= E / Q

28
Itotal  = I heater + I cooker  =  1500 / 200 + 1000 /200    ( use I  = P / V)


        =  12.5 A
30

R ( 1 / A   


or 
R (  1/ r2     since A = (r2  


when r ( ½ r  , then R  ( 4 R

31
When K is open, current (I) through L is V / R 


(where V is the p.d ( = emf) across L, and R is the resistance of bulb L)


When K is closed, the p.d across L is still V (parallel network)  and hence the current through L is also I.


As R and I ( and V) remain unchanged, the brightness remains the same.
32
RAB = ( 1/ 2R + 1 / (R + {1/2R + 1/2R}-1 ) -1  = R
35
Since    Induced emf  ( Vi)  (  Number of turns (N)



as V i  ( 3  V i   hence N ( 3 N

